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Find: a. &2 = na° 28 .
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“x =3x-3 (4x)’

w=-3

NO - yoU cannot havt
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b are in a rakio of 2:5.3

2x+EX+3x= 180
lox = \8P

i =18
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#13 |f a pair oF vertical s arc Supp. what can we
conclude about the angles
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HS O iS the midpt of NP o
R IS the midpt of SP
NP = Sp
Conclusion: SR N0
R
Statements Reasons s
\. 0.1¢ the midpt. of NP I. GiNen
2. R is the midpF. of Sp 2 Given
a NP S—P 3. Given
- " - 4. I 2 seqs are = - +her
4. SR = N0 like divg\‘swm are =




m bisects & OPR

#3 Givenr XOMP 2 % RPM 17
—
MP bisects 4 0MR
M
V?

Prove. ¥ OMR £ x0PR
R
Gt’al‘amen (£9 Reasons

. ﬁMP = x RPM I. Given

2. MP hisecks § OMR 2. Given

3. PV biseds & OPR 3. Given

o 1f 2 &'S are T o thew like
4 K OMR= xoPR N muthpies are
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#H12 Gven. 4 A is comp.to ¥ ADB
A C is comp. to 3CDB 1 |2
3'5 bisects £ ADC
Cone: &A= XC
A 5 c
Statements Reasons
1. & A comp to £ADB I Gwen
2.4¢C comp tvo xCOB 2. Oiven
— R ; EUVt’l
3 pg bisects & ADC .
4. If aray bisectsan ¥ divides

4. %ADB = xCOPB an & into 2 £ &'

¢ S IF2 X\s are comp- to = Lis S &'s <
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